CIS 601, Test 1, September 29, 2003

Your Name:

1. Compute three image distances for the two images A and B given below:

a) pixel based image distance using the squared Euclidean distance metric,

b) vector based image similarity measure based on dot (inner) product,

c) histogram based image distance. Compute the histograms with 3 equally spaced bins: define the bins and tell how many pixels contribute to each bin. Then compare the two obtained vectors of length three using the squared Euclidean distance metric.

d) Which of the three distances gives the best results for A and B? You can give the answer to this question without having solved a, b, and c.  
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